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SurFace AREA OF ComposiTe SHAPES
UNIT TesT |

¥ultiple Choice
{dentify the choice that best completes the statement or answers ihe question,

Gl ‘o "Thiis composite object is made using centimetre cubes, Determine its surface area.
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A, 24 em? b. 20 cm? ¢. 15 cm? @ 18 cm?

d a. This object is composed of two wWentical cubes joined by a right rectangular prism.
The edge length of each cube is 8 cm.

The rectangular prism is 9 cm long and has squarc ends of side length 3 cm.
Determine the surface area ol the object,
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a. 660 cm? b. 894 cm? ¢. 876cm? d.] 858 cm?
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surface area,

@ '3, This object is made from 9 centimetre cubes. Determine its
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30 cm? b. 28 em* 3 2 n
@ c. Jdcm d. 54cn




P T R L T N A g
i e sreim sy

The following 3-D object is composed of identical cubes. The volume of the 3-D object is

! 56 cm?,
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The surface area of the 3-D object above is

A, 30cm?
B.  60cm?

@ 120 em?®

D. 144 cm?

5 . This object is composed of a right triangular prism on top of a right rectangular prism.
* Determine the surface area of the object.
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6 cm

@ 351 em? b. 297 cm? c. 207 cm?® d. 441 em?

¥ Answer is 349 om?

6 This. object is composed of a cylinder of diameter 4 cm and height 14 em on top of another cylinder of
. .
diameter 12 em and height 4 cm.
Determine the surface area ol the object, to the nearest square centimetre.,
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a. 440 cm? b. 357 cm? c. 561 cm? @
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The disgram shown below 18 a square and has a perimeter of 8 cm.

What {5 the total avea of the white rectangles and the black squares?
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Angwer: , ' __5 cm”

Each layer of a lwo-layer cake is a right vectangular prism.

The bottom layer has a square base of side length 26 cm and height 8 em.
The top layer has a square base of side length 18 cm and height 6 em.
The surface of the cake is frosted. What area of the cake is froste?

Answer ¢ 19H0ewm®
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‘7, A desk top is a rectangular prism with
dimensions 106 cm by 50 cm by 2 cm. Each
of 4 legs of the desk is a rectangular prism
with dimensions 75 cm by 3 cm by 3 cm.

a) Sketch the desk.
b) Determine the surface area of the desk.

Answer + % 8o e

JO. Nick makes a doughnut with a flat top and a flat bottom. He plans to cover all surfaces of the doughnut with a
sugar glaze. What is the surface area Nick must cover?
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